
≔FC ⋅
T

0 0 10[[ ]] kN ≔FA ⋅
T

0 0 -30[[ ]] kN ≔FB ⋅
T

0 0 -50[[ ]] kN

≔rC ⋅
T

0 -0.4 0[[ ]] m ≔rA ⋅
T

0.4 0 0[[ ]] m ≔rB ⋅
T

-0.4 0.2 0[[ ]] m

≔
Mx

My

Mz

⎡
⎢
⎢
⎢⎣

⎤
⎥
⎥
⎥⎦

=++⨯rA FA ⨯rB FB ⨯rC FC

-14
-8
0

⎡
⎢
⎢
⎣

⎤
⎥
⎥
⎦

⋅m kN

≔FR =++FA FB FC

0
0

-70

⎡
⎢
⎢
⎣

⎤
⎥
⎥
⎦
kN

≔x =――
My

FR2

0.114 m ≔y =――
Mx

FR2

0.2 m

=⨯
x
y
⋅0 m

⎡
⎢
⎢
⎣

⎤
⎥
⎥
⎦

FR

-14
8
0

⎡
⎢
⎢
⎣

⎤
⎥
⎥
⎦

⋅m kN Sign error

≔M =
T

Mx My Mz⎡⎣ ⎤⎦

-14
-8
0

⎡
⎢
⎢
⎣

⎤
⎥
⎥
⎦

⋅m kN

G
ue

ss
 V

al
ue

s
Co

ns
tr

ai
nt

s
So

lv
er

≔P ⋅
T

1 1 0[[ ]] m

＝⨯FR P
T

Mx My Mz⎡⎣ ⎤⎦

≔P =Find ((P))
0.114

-0.2
0

⎡
⎢
⎢
⎣

⎤
⎥
⎥
⎦
m



G
ue

ss
 V

al
ue

s
Co

ns
tr

ai
nt

s
So

lv
er

≔P ⋅
T

1 1 0[[ ]] m

＝⨯FR P
T

Mx My Mz⎡⎣ ⎤⎦

≔P =Find ((P))
0.114

-0.2
0

⎡
⎢
⎢
⎣

⎤
⎥
⎥
⎦
m

Check:

=⨯FR P
-14
-8
0

⎡
⎢
⎢
⎣

⎤
⎥
⎥
⎦

⋅m kN =M
-14
-8
0

⎡
⎢
⎢
⎣

⎤
⎥
⎥
⎦

⋅m kN


